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Miiez i) Croestion paper consists of Pen A, Pan B
i) Part A s compulsory. which corries 23 morks. In Pari A, Awswer alll geestions.
iii) In Pan B, Azswer any one question from each anit. Each question camies 10 markes
and may bave a, b os sub questions.

PART - A

125 Marks)

Give examples for siack.

How 1 construct a quese using sucks?

Wha is o skip list*

List the drowbacis of open sddrecsing.

Whan dos dhe color notase im red-black wee?

Whm operstions ore performed on Splay rees?

Wha is o max beap?

Give example fior adjseency listof a graph

Define mie.

Wh ere e meerits and demeriis of broe force method for patiem maiching

FART - B

Lar okt i bk lar bkt law bkt lid b

150 hlarks)
Wriie and explaim algorithms for Pesh and pop openiiong of stack esing linked lisa | L)
iR
[escribe the conditions of overflow ond underflow in & quene.
[Msruss dhe applications of goeues. [3+5]

Demonstrase skoip list representation of & dictionary.

How 1o perfonm resssign operaiion on a dictionary. [3+5]
bR

Explain the algorithm for implementing quadratic probing on o hash ishle. {1i¥]

[lbsstraie search opertion on binary search iree.

[Mzcuss the imporiance of keight balanced trees for searching. [3=3]
iR

With saiwhle examples, illustrae right-left roanon oo AVL tree.

[fferemtizte between sploy tree and ped-block oree. [3=3]

blake o comparizon of breadth firs search and depih first search fior o graph. {11K]
iR
Wriie an &lgorithm for meerge son and explaim with o susshle cxample. | 11K]

Describe the Bnuth-Morris-Pran algonthen for patiem nanching. [110]
iR

A compressed trie is an sdvanced version of the standard trie.” Suppon or oppose this

sistemeni with necessary explasanon [ 11K]
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[1TT1T]

[T Explain various lisked hist representation op

i detail I 5]

[coa]

OR

Note:  This question paper contains two parts, A and B

* Part A Is compuilsory which carries 20 marks (10 sub questions sre two from cach

unit caery 2 Marks). Answer all questions in Part A

¢ Part B Coassts of 5 Units. Answer one question from each unit. Each question

carries 10 Marks and may bave o, b sub questions

Part-A
Answer all questions

What are applications of mch‘v =

(20 Marks)

Cco

€Ol

Bl
L1

)]

o [What is collision’ and what are collision resobation] S |
techniques?

A hash table of Icnglh 10 wes open addressing with hash
function b(k)~k mod 10, and lisesr peobing Alfler inserting 6 |
values into an empty hash table, the table & as shown below ‘
o

—5
Find the possible order values in which the key values could
have boen inserted in the table?

UNIT-11I

How the Insertion and Deletion operations performed in |
Binary search trees

03 |

stoor|

Wit et rotes on Splay Troes

List out the m;rm_-m'ch;@'gr_\gm are applied extensively.

[lustrate the differences between hinsar list represessations and
| skip bist rep

o
col

L2
LI

| Define Hash function
How 10 resolve null links in o binary search wree?

col
co3

LI
12

What i3 Red-Black tree? Give an example

€Ol

L2

Give the best case, average case, worst case time complexity of
recursive m:f]e m

o

12

] -_Iiinesﬂmnzﬁlﬂ_am sorting methods’
§ Explai

OR
_| Define AVL tree and Explain different rotations in AVL tree
Bald an AVL tee with the following values |
120115320247 02880
UNIT-IV

nmmuucnmdﬂekumeknrnlmlom\hap

OR_

Dcfmt guph and give an example?
What is the need of extemal sorting?

(]
oo

L2
12

What are the advantages of Tries?

(8¢)]

Part-B
Answer all the Units
All Questions carry equal Marks

(50 Marks)

Ll

L) ?E-pum Depth First Search and Breadh First Search
|1 |sigorithms indetail

rWrm: extemal sorting  slgorithm and expiain with a0
}

|
[&3]] ]

|

UNIT-V

Distinguish between Standard Tries and Comp Toes |5

COd |

Wrile a0 Algorichm for KMP pasiern tochnique 151

stion. IM] co]

UNIT-I

Examine the applications of stack. } 5
| Explain sreay based impl of stacks

€Ol |
CUI

oR
5 ]u | Tlustrwte the difference between o queves and linked Tists
with an example

| b. | Give an algorithm for push snd pop op«mom oo sack using
| 8 linked list

UNIT-I

§la Y‘L‘Ml ' hash table with 100 siots. Collisions are resolved

| using chaining Assuming simple uniform hashing, what is

| | the probability that the first 3 slots are unfilled after the first
113 insertions?

OR
What brete force algoeithm. Explain string patiern matching | §
average analysis
You are given » sting “s” and 5 patiem “p°, you need to | §
check if the pattem s there in the stnngby using Brute focce
algorithen
S = "prodevelopertutarial™
P = “rial”

OO |

cod |

Co4
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Note: » This question paper contains two parts, A and B
« Part A i compulsory which carries 25 marks (1* § sub questions are one from each
unit camy 2 Marks each & Next § sub questions are one from each unit carry 3
Marks). Answer all questions in Part A
« Part B Consists of $ Unsts, Answer one question from each unit. Each question
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(26 Marks)

({1]

What are applications of stacks? COl
| List out the areas in which data structures are applied extensively €02
llustrate the differences between linear list representations and | 2 | CO3
skip list representation
| | Define Hash function COd| L
. | How 1o resolve null links in & binary search tree? COS
What is Red-Black tree? Give an example €Ol
(iive the best case, average case, worst case time complexity of | 3 [ CO2
recursive merge sort
. | Define graph and give an example? o3| 12
What is the need of external sorting? CO4

What are the advantages of Tnes? C0s

Part-B (50 Marks)
Answer all the Units
All Questions carry equal Marks

1 b, Explain various inked lst representation operations in detal | § | CO2 | L2
OR

5) [ [What is collision? and what are collision resolution | § | COJ | L3
technigues?

A hash table of length 10 uses open addressing with hash | 5 | COD | LA
function h{kk mod 10, and lincar probing. Aflet inserting 6
values into an empty hash table, the table is as shown below

0

v

Find the possible order values in which the key values could
have been inseried in the table?

UNIT-Ill

How the Insertion and Deletion operations performed in
Binary search trees

Write short notes on Splay Trees

L RHES——
Define AVL tree and Explain different rotations in AVL tree

Buld an AVL tee wih the following values
20,11,5.324024.27,23,28,50

UNIT-IV

§) [ o[ Compure and contrast diferent sorting methods? [5[coi] 2

| b | Explain how to insert and delete an element indo Max hesp? | § | CO2 | L3

OR

9) | o [Wnte exemsl sorting algonthm and explain with an| $ [ CO2 | L3

algorithm

b |Explain Depth First Search and Breadth First Search| S [ COI | L3
algorithms in detail

UNIT-V

10) [ a. | Distinguish betwoen Standard Tries and Compressed Tries | § | CO4 | 12
|

| Write an Algorthm for KMP pattern fechnigue [S[Co| 12

0N | Question IM[ coT L

UNIT-1

2) [ & | Examine the applications of stack. |s]col] 13

| b | Explain array based imp! of stacks |5[cot| L

OR

—

3) [ . | Mhustrate the difference between a queuss and linked lits | S | CO2 | 13
with an example

b Gnnmﬂmﬂmfmﬁlﬁhmmmmmﬁwq s|co| R
2 linked list

UNIT-11

o3
using chaining. Assuming simple uniform hashing, what is
the probability that the first 3 slots are unfilled after the first

3 insertions?

OR
11) { & | What brute force algorithm. Explain string pattern matching | § | CO4 [ L3
ivergeanlysis
You are given a string 5™ and § pattern “p", you need to | 5 | COM | L4
check if the patten is there in the stringby using Brute force

algorithm
§ = “prodevelopertutorial”
P = “rial"
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il

Note: » This question paper contains two parts, A aad B
* Pant A s compulsory which carnies 20 marks (10 sub questions are two from each
unit carry 2 Marks). Answer all questsons in Part A
¢ Pant B Consists of § Units, Answer one question from each unit. Each question
<carries |0 Marks and may have a, b sub questions

|
LI Lilll)

3(\o{w

T

Find the possible order values im whach the key vabues could
1 have been inserted in the table?

Part-A (29 Marks)
Amswer all questions

— Question
t are applications of stacks? = | 3 ] OR
List out the areas in whnch data structires are app isively. - I e AVL tree and Explain different rotstions in AVL tree
llkustrate the difforences between lincar list represestabons and “To [Build se AVL tree with the ﬁ;llwm@ velues:
skip list representation i 20.11,5.32.402.4.27,23.28 0
Define Hash function,. 2 1C z [ T T UNIT-IV
How 1o resotve null Im:s ing bunary search tree? s % T Gon - s contrast different sorting methods? =
h  tree? C - L1501 L. e an element into Max heap?
Give the best case, average ¢ 3t case time complexity of I e
| recursive swerge sort L X [ e extermal socting algonthm and explan with
| Define graph and give an example? algorithen
What & the need of external sorting? 12 1¢

—_— 4
| What & the eed = ! b |Explain Depéh First Search and Breadth Fint Search | S | COI
| What are the advantage: E, X in detail

UNIT-V .
| 8| Distimgwish between Standard Tries and Compeessed Tries | 5 | COM
Amswer sl the Units | Write an Algonthen for KMP patern sechm s co
All Questions carry equal Marks oR
= | What brute force algonthen Explain stnng patsern maiching o4
| average analysis

Question

— UNIT-E

¢ applications of stack

xplain array based implementation of stacks
OR

You are given & siring “3~ and § pasiern p", you need 1o | 3 | CO4
check I the patiem is there i the stringby using Brute force
Mgonthm
§ = “prodevelopertutorial
| | P =“rial
b | Give an algonthm for push and pop operasions on stack wxing
4 linked last

with 2n example

- UNIT-1I =
s | Consider a hash table with 100 siots. Collisons are resolved
ssing chaining. Assuming stmple uniform hashing, what is
the probability that the first 3 siots are unfilled after the first
1|3 inwertions?




